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ALCOHOL, PHENOL AND ETHER

Multiple Choice Questions

1. Monochlorination of toluene in sunlight

followed by hydrolysis with aq. NaOH yields


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2elZpUVAmATn

A. o-Cresol

B. m-Cersol

C. 2,4-Dihydroxytoluene

D. Benzyl alcohol

Answer: D

o Watch Video Solution

2. How many alcohols with molecular formula

C4y — H{yO are chiral in nature ?


https://dl.doubtnut.com/l/_2elZpUVAmATn
https://dl.doubtnut.com/l/_CDsaN0VCJude

Al

B.2

C.3

D. 4

Answer: A

o Watch Video Solution

3. What is the correct order of reactivity of
alcohols in the following reaction ?

R—-OH+ HCl - R—-CI + Hy0O


https://dl.doubtnut.com/l/_CDsaN0VCJude
https://dl.doubtnut.com/l/_Y3Ct1pLYsIYn

Al1° >2° > 3°

B.1° < 2° > 3°

Answer: C

o Watch Video Solution

4. CH;CH,OH Can be converted into


https://dl.doubtnut.com/l/_Y3Ct1pLYsIYn
https://dl.doubtnut.com/l/_4FQO4OmLxCWB

A. catalytic hydrogenation

B. treatment with LiATH,

C. treatment with Pyridininum

chlorochromate

D. treatment with KMnQO,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4FQO4OmLxCWB

5. The process of converting alkyl halides into

alcohols involves ........... ..

A. addition reaction

B. substitution reaction

C. dehydrohalogenation reaction

D. rearrangement reaction

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QB6Zzw8yfSlU
https://dl.doubtnut.com/l/_lLeNmRXN7nYB

6. IUPAC name of compound

CH; — C"H — OCHj is
CHj

A. -methoxy-1-methylethane

B. 2-methoxy -2 - methylethane

C. 2-methoxypropane

D. isopropylmethyl ether

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lLeNmRXN7nYB

7. Which of the following compounds will react

with sodium hydroxide solution in water ?
A.CeH;OH
B. 06H5CH20H

C.(CH,),COH

D. C, H;OH

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_R7oynuawgwg5
https://dl.doubtnut.com/l/_LPwaZUd60MbL

8. Phenol is less acidic than

A. ethanol

B. o-nitrophenol

C. Methyl phenol

D. o-methoxyphenol

Answer: B

° Watch Video Solution

9. Which of the following is most acidic?


https://dl.doubtnut.com/l/_LPwaZUd60MbL
https://dl.doubtnut.com/l/_047dwSg6jfsf

A. Benzyl alcohol

B. Cyclohexanol

C. Phenol

D. m-chlorophenol

Answer: D

o Watch Video Solution

10. Arrange the following compounds in
increasing order of boiling point :

Propan-1-ol, butan-1-ol, butan-2-ol, pentan-1-ol


https://dl.doubtnut.com/l/_047dwSg6jfsf
https://dl.doubtnut.com/l/_DvSI9LRIMrvE

A. Propan-1-ol, butan-2-ol,butan-1-ol,pentan-

1-ol

B. Propan-1-ol,butan-l-ol,butan-2-ol,pentan-

1-ol

C. Pentan-1-ol,butan-2-ol,butan-l-ol,propan-

1-ol

D. Pentan-1-ol,butan-1-ol, butan-2-ol,propan-

1-ol

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DvSI9LRIMrvE

1. Dehydration of alcohols on give ethers is

catalyzed by :

A. Conc. H,50, at 413 K

B. Conc. H,50, at 443 K

C.cone H,50, at 383 K

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DvSI9LRIMrvE
https://dl.doubtnut.com/l/_KofthMgcICZE

12. Dehydration of tertiary alcohols with Cu at

573 K gives:

A. Aldehydes

B. ketones

C. alkenes

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jgXh8Tozuw4i
https://dl.doubtnut.com/l/_LvSiudRVwVWC

13. Dehydration of alcohols to give alkenes is

catalysed by :

A.Conc. H,50, at 413 K

B. Conc. H,50, at 443 K

C.conc. H,50, at 383K

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LvSiudRVwVWC

14. Molecular formula of Ethers is :

A. CnH2n_|_2OH

B.C,H>5,0

C. CnH2n+1O

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wV6oCpB8mcg8

15. Williamsons synthesis is an example of :

A. Nucleophilic substitution reaction

B. Nucleophilic addition

C. Electrophilic substitution

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bNXOLhwwlRVE

16. Commercial alcohol is made unfit for

drinking by adding

A. methyl alcohol

B. Antimony oxide and acetic acid

C. morphine and adipic acid

D. Snake poison

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AcPp1phHa1mu
https://dl.doubtnut.com/l/_5xbMXVHjtscs

17. Reaction used for the preparation of ethers

IS

A. Reimer-Tiemann reaction

B. Williamson's Synthesis

C. Wurtz reaction

D. Cannizzaro reaction

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5xbMXVHjtscs

18. The test used to distinguish alcohols from

one another is known as

A. Hinsberg's test

B. 2,4-DNP test

C. lodoform test

D. lucas test

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ogkYkmzqnTQ6
https://dl.doubtnut.com/l/_0RnNoZKWheiq

19. Isopropyl alcohol is oxidised with KsCr,0

and H,50, to give

A.CH;CHO

B. CH;COC H

C. CH,CH,CH,COOH

D. CH;CH = CH,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0RnNoZKWheiq

20. Write Reimer Tiemenn reaction?

o Watch Video Solution

21. Phenol upon distiliation with zinc dust

gives :

A. benzene

B. benzaldehyde

C. benzoic acid

D. benzophenone


https://dl.doubtnut.com/l/_aRsmTfr64WYF
https://dl.doubtnut.com/l/_W5nYWGM7zRBk

Answer: A

o Watch Video Solution

22. Which of the following reagent cannot be
used to distinguish between phenol and
benzyl alcohol

A. NaOH

B. NCI,HCO?,

C. B7°2 /CCI4

D. FGCI3


https://dl.doubtnut.com/l/_W5nYWGM7zRBk
https://dl.doubtnut.com/l/_NMTslkefDObB

Answer: B

o Watch Video Solution

23. What happens when ethanol is heated with

conc.Hy; SO, at 443k?

A. ethane

B. diethyl ethere

C. dimethyl ether

D. ethyl Hydrogen sulphate


https://dl.doubtnut.com/l/_NMTslkefDObB
https://dl.doubtnut.com/l/_HIBoVHEJi0HW

Answer: B

o Watch Video Solution

24. Phenol reacts with bromine water in CS5

at low temperature to give

A. o-Bromophenol

B. 0o-and p-Bromophenol

C. p-Bromopheno!

D. 2,4,6-Tribromopheonl


https://dl.doubtnut.com/l/_HIBoVHEJi0HW
https://dl.doubtnut.com/l/_XF5CFdbXS6Pf

Answer: B

o Watch Video Solution

25. How many optically active stereoisomers

are possible for butane -2,3-diol ?

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_XF5CFdbXS6Pf
https://dl.doubtnut.com/l/_S32v4lRNIkLX

Answer: B

o Watch Video Solution

26. Which of following will give Phenol with

CaO and NaOH?

A. Salicylic acid

B. Picric acid

C. Benzoic

D. Amino acid


https://dl.doubtnut.com/l/_S32v4lRNIkLX
https://dl.doubtnut.com/l/_itJh91kefF5z

Answer: A

o Watch Video Solution

27. 1-Propanol and 2-Propanol Can be best

distinguished by

A.oxidation  with  alkaline KMnQO,

followed by reaction with Fehling

Solution


https://dl.doubtnut.com/l/_itJh91kefF5z
https://dl.doubtnut.com/l/_6hQaNySs8JLG

B. oxidation with acidic dichromato

followed by reaction with Fehling

Solution

C.oxidation by heating with copper

followed by reaction with Fehling

solution

D. oxidation with conc. HyS0, followed by

reaction with Fehling Solution.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6hQaNySs8JLG

28. The correct IUPAC name of the organic
compound

|
Cl CHjs

A. 3-chloro-2-methylbutan-1-ol

B. 2-chloro-3,4-dimethylpentan-5-ol

C. 2-chloro-3,4-dimethyl-n-peniyl-1-ol

D. 2-chloro-3,4-dimethyl-n-pentyl alcohol

Answer: A



https://dl.doubtnut.com/l/_6hQaNySs8JLG
https://dl.doubtnut.com/l/_mXYWBCJym0tk

I 0 Watch Video Solution I

29. Which one of the following phenols has

the highest pK, Value ?

A. o-Nitrophenol

B. Phenol

C. m-Nitrophenol

D. p-Cresol

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mXYWBCJym0tk
https://dl.doubtnut.com/l/_rXSMggDiu0UK

30. The major product obtained on interaction

of phenol with NaOH and COs is

A. Benzoic acid

B. Salicylaldehyde

C. Salicylic acid

D. Phthalic acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rXSMggDiu0UK
https://dl.doubtnut.com/l/_G8I2VWOo5VLd

31. The correct order of acidic strength of the
following compounds :
l. Phenol Il. p-Cresol
l1l. m-Nitrophenol IV. p-nitrophenol
AV >IIT >1>11
B.II > IV > 1> III

CI>II>IV >III

D.IIIT > I >1>1V

Answer: A



https://dl.doubtnut.com/l/_G8I2VWOo5VLd
https://dl.doubtnut.com/l/_kBqZ1YDjpZja

I o Watch Video Solution

32. Which of the following reagents may be

used to distinguish between phenol and

benzoic acid ?

A. Molisch reagent

B. Neutral F'eClI;

C. Aqueous NaOH

D. Tollen's reagent

Answer: B


https://dl.doubtnut.com/l/_kBqZ1YDjpZja
https://dl.doubtnut.com/l/_tDnxd34sfHnw

° Watch Video Solution

33. Salicylaldeliyde can be prepared from

Phenol by

o Watch Video Solution

34. The total number of acyclic Structural
isomers possible for compound with

molecular CyH1(7O is

A.9


https://dl.doubtnut.com/l/_tDnxd34sfHnw
https://dl.doubtnut.com/l/_RCEBshhdyxff
https://dl.doubtnut.com/l/_eb51scjShiDO

B.7

C.5

D.5

Answer: B

o Watch Video Solution

35. Williamson's Synthesis of preparing

dimethyl ether is a/an

A. electrophilic substitition


https://dl.doubtnut.com/l/_eb51scjShiDO
https://dl.doubtnut.com/l/_sfwloJaCRJOt

B. Sy I reaction

C. electrophilic addition

D. Sy 2 reaction

Answer: D

o Watch Video Solution

36. Which of the following alcohols on
dehydration with conc. H,50, give but - 2-

ene


https://dl.doubtnut.com/l/_sfwloJaCRJOt
https://dl.doubtnut.com/l/_N2BjuTfgZBUN

A. 2-methyl propan-2-ol

B. Butan-1,2-diol

C. 2-methyl propan-1-ol

D. Butan-2-ol

Answer: D

o Watch Video Solution

37. What type of reactions are represented by
following equation : CuSO4 + Zn — ZnSO4 +

Cu


https://dl.doubtnut.com/l/_N2BjuTfgZBUN
https://dl.doubtnut.com/l/_4LsuEfK6Nseg

° Watch Video Solution

38. The product of the following reaction is :

Phenol reacts with conc. Nitric acid and

sulphuric acid

A. O-Nitrophenol

B. M-Nitrophenol

C. 2,4-di Nitrophenol

D. 2,4,6-tri Nitrophenol

Answer: D


https://dl.doubtnut.com/l/_4LsuEfK6Nseg
https://dl.doubtnut.com/l/_pWqHDNt7lFe4

° Watch Video Solution

39. Power alcohol is a mixture of

A. 80% petrol+20%benzenet+small

quantity of ethanol

B. 80% petrol+20% ethanol+small quantity

of benzene

C.80% ethanol+ 20% benzene +small

quantity of petrol


https://dl.doubtnut.com/l/_pWqHDNt7lFe4
https://dl.doubtnut.com/l/_VJrzaVJfpsBw

D.50% petrol + 50% Ethanol+ small

quantity of benzene

Answer: B

° Watch Video Solution

40. We eat of potato plant.

° Watch Video Solution



https://dl.doubtnut.com/l/_VJrzaVJfpsBw
https://dl.doubtnut.com/l/_NQOFKNJin6KP

41. Sodium Phenoxide when heated with CO2
under pressure at 12501 C yield a' product

which on acetylation produces C.

f .\I\ ‘DNE,_-' E[}z —+ B —+

The major product of C would be

D; ECH--I
HaC o

I

OH


https://dl.doubtnut.com/l/_kAis9M6dkEpR

COOH

HG
i 0 OH
0

Answer: C

° Watch Video Solution

42. Arrange the following compound in order

of decreasing acidity.


https://dl.doubtnut.com/l/_kAis9M6dkEpR
https://dl.doubtnut.com/l/_bGfghRhmfKYw

OH H on
| OH
R
SRS
Cl Hy o o

AIV >T1I1 >1>11
B.II > 1V > 1 > 111
C.I>1I>1III>1V

D.III > 1> 11> 1V

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bGfghRhmfKYw

43. The relative ease of dehydration of

alcohols follows the following order :

A.tertiary > secondary > primary

B. primary > secondary > tertiary

C.secondary > tertiary > primary

D. tertiary > primary > secondary

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8unEdW9KgBdU
https://dl.doubtnut.com/l/_ghvE5RtLxFYM

44.The reaction of Lucas reagent is fast with

A. ethanol

B. methanol

C. 2-propanol

D. 2-methyl-2-propanol

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ghvE5RtLxFYM

45, When ethanol is heated with HI and red

phosphorus, it gives

A. ethyl iodide

B. ethane

C. ethylene

D. ether

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cjiuTGXbCvQO
https://dl.doubtnut.com/l/_gnuLcndSpH3d

46. The acid obtained when P,0Og reacts with

hot water

A. isopropyl iodide and methyl alcohol

B. isopropyl alcohol and methyl iodide

C. isopropyl iodide and water

D. methyl iodide and water

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gnuLcndSpH3d

47. Define empirical formula and molecular

formula ? How are they related to each other ?

Al

B.2

C.3

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AAx7iAg5upEx
https://dl.doubtnut.com/l/_kDnrmcbe3OGu

48. The process of converting alkyl halides into

alcohols involves ........... ..

A. addition reaction

B. substitution reaction

C. dehydrohalogenation reaction

D. rearrangement reaction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kDnrmcbe3OGu

49. Arrange the following compounds in
increasing order of boiling point:

Propan-1-ol, butan-1-ol, butan-2-ol, pentan-1-ol

A. Propan-1-ol, butan-2-ol, butan-1-ol,
pentan-1-ol

B. Propan-1-ol, butan-1-ol, butan-2-ol,
pentan-1-ol

C. Pentan-1-ol, butan-2-ol, butan-1-ol,

propan-1-ol


https://dl.doubtnut.com/l/_ZMoExNx9IbOb

D. Pentan-1-ol, butan-1-ol, butan-2-ol,

propan-1-ol

Answer: A

° Watch Video Solution

50. Diethyl ether is decomposed on heating

with

o Watch Video Solution



https://dl.doubtnut.com/l/_ZMoExNx9IbOb
https://dl.doubtnut.com/l/_xE5VtvF3XIee

51. o-nitro phenol is more volatile :

A. due to intramolecular H-bonding

B. due to intermolecular H-bonding

C. Both (a) and (b)

D. none of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mLbRsv0Wsp2P

52. Acid catalysed hydration of alkene is an

example of

A. free radical substitution

B. nucleophilic substitution

C. nucleophilic addition

D. electrophilic addition

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_p4VumISHi0QM
https://dl.doubtnut.com/l/_s8K1Frq1OgHm

53. The product of acid-catalysed hydration of

2 phenyl propene is

A. 3-phenyl-2-propanol

B. 1-phenyl-2-propanol

C. 2-phenyl-2-propanol

D. 2-phenyl-1-propanol

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_s8K1Frq1OgHm

54. Which among the following compounds
will give a secondary alcohol on reacting with
Grignard reagent followed by acid hydrolysis ?

l. HCHO Il. CsH;CHO Il. CH;COCH; V.

RCOOC; Hj
Select the correct answer using the codes

given below:

A.only I

B. only IlI

C.lland IV


https://dl.doubtnut.com/l/_ZaRXZBuVUBCm

D. Il and IV

Answer: A

° Watch Video Solution

55. During dehydration of alcohols to alkenes
by heating with conc. Hy 50y, the initial step
is

A. formation of anester

B. protonation of alcoliol molecule


https://dl.doubtnut.com/l/_ZaRXZBuVUBCm
https://dl.doubtnut.com/l/_stfxDaREA89w

C. formation of carbocation

D. elimination of water

Answer: B

o Watch Video Solution

56. Which of the following compounds can be

used as antifreeze in automobile radiators ?

A. Methyl alcohol

B. Glycol


https://dl.doubtnut.com/l/_stfxDaREA89w
https://dl.doubtnut.com/l/_QcSkStYAofhx

C. Nitro phenol

D. Ethyl alcohol

Answer: B

o Watch Video Solution

57. An unknown alcohol is treated with the
"Lucas reagent to determine whether the
alcohol is primary, secondary or tertiary. Which

alcohol reacts fastest and by what mechanism

?


https://dl.doubtnut.com/l/_QcSkStYAofhx
https://dl.doubtnut.com/l/_rPWqPo5lfp8N

A. Tertiary alcohol by SN
B. Secondary alcohol by SN?
C. Tertiary alcohol by SN*

D. Secondary alcohol by SN'!

Answer: C

o Watch Video Solution

58. lodoform can be prepared from all except

A. isopropyl alcohol


https://dl.doubtnut.com/l/_rPWqPo5lfp8N
https://dl.doubtnut.com/l/_vbN7jj8hQKCy

B. 3-methyl-2-butanone

C. isobutyl alcohol

D. ethyl methyl ketone

Answer: C

o Watch Video Solution

59. Ethers are used as solvents. Explain.

A. Acids

B. Bases


https://dl.doubtnut.com/l/_vbN7jj8hQKCy
https://dl.doubtnut.com/l/_M9ezr9ljhsKm

C. Oxidising agents

D. Reducing agents

Answer: A

o Watch Video Solution

60. Assertion : Neopenty alcohol on treatment
with HCl gives neopentyl chloride.

Reason: Neopentyl is a tertiaryalcohol.


https://dl.doubtnut.com/l/_M9ezr9ljhsKm
https://dl.doubtnut.com/l/_gHQaJftgy4IC

A.If both assertion and reason are true,

and reason is the true explanation of the

assertion.

B.If both assertion and reason are true,

but reason is not the true explanation of

the assertion.

C. If assertion is true, but reason is false.

D. If both assertion and reason are false.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gHQaJftgy4IC

61. Statement :1. 2-Pentanol and 3-pentanol

cannot be distinguished by iodoform test.

Statement: 2.2-Pentanol and 3-pentanol both

are secondary alcohols.

A. Statement 1is True, Statement : 2 is True,

Statement: 2 is a correct explanation for

Statement 1

B. Statement : 1 is True, Statement : 2 is

True, Statement : 2 is not a correct


https://dl.doubtnut.com/l/_gHQaJftgy4IC
https://dl.doubtnut.com/l/_FC3R1tbmWOF2

explanation for Statement : 1.

C.Statement: 1 is True, Statement : 2 is

False.

D. Statement: 1 is False, Statement :2 is

True.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FC3R1tbmWOF2

62. Explain Lucas test to distinguish between

1°,2° and 3° alcohols.

A. Statement 1is True, Statement : 2 is True,

Statement: 2 is a correct explanation for

Statement 1

B. Statement : 1 is True, Statement : 2 is

True, Statement : 2 is not a correct

explanation for Statement : 1.


https://dl.doubtnut.com/l/_vohiDHZrujf2

C.Statement: 1 is True, Statement : 2 is

False.

D. Statement: 1 is False, Statement :2 is

True.

Answer: C

o Watch Video Solution

63. Name the substance which can be used as

an antiseptic as well as disinfectant.


https://dl.doubtnut.com/l/_vohiDHZrujf2
https://dl.doubtnut.com/l/_bzNEzrLdnR1F

A. Ether

B. Aldehyde

C. Chlorine

D. Phenol

Answer: D

o Watch Video Solution

64. Few people drank some cheap alcohol.
Some of them lost there eyesight and a few

died.Which alcohol did they drink?


https://dl.doubtnut.com/l/_bzNEzrLdnR1F
https://dl.doubtnut.com/l/_2m9CrQzFoiji

A. Ethanol

B. Methanol

C. Propanol

D. Butanol

Answer: B

o Watch Video Solution

65. Methanol dissolves in water while propanol

does not. What is the reason ?


https://dl.doubtnut.com/l/_2m9CrQzFoiji
https://dl.doubtnut.com/l/_YG29cdSwZie7

A. Formation of covalent bonds

B. Formation of ionic, bonds

C. Wander vaal forces

D. Formation of hydrogen bonding

Answer: D

o Watch Video Solution

66. Which alcohol is called wood alcohol?

A. Pentanol


https://dl.doubtnut.com/l/_YG29cdSwZie7
https://dl.doubtnut.com/l/_iWZo25FqKx5Z

B. Ethanol

C. Methanol

D. Propanol

Answer: C

o Watch Video Solution

67. Methylated spirit contains 95% of an

alcohol. Name the alcohol.

A. Ethyl alcohol


https://dl.doubtnut.com/l/_iWZo25FqKx5Z
https://dl.doubtnut.com/l/_Ekt07g9rrk9M

B. Methyl alcohol

C. Propyl alcohol

D. Butyl

Answer: A

o Watch Video Solution

68. Commercial alcohol is made unfit to drink
by mixing it with copper sulphate and

pyridine. What is the name of this process?


https://dl.doubtnut.com/l/_Ekt07g9rrk9M
https://dl.doubtnut.com/l/_ohwUsEWeNKaF

A. Etherification process

B. Etard reaction

C. Williams on synthesis

D. Denaturation of alcohol

Answer: D

o Watch Video Solution

69. A mixture of 20% ethanol and 50%

gasoline is called as.


https://dl.doubtnut.com/l/_ohwUsEWeNKaF
https://dl.doubtnut.com/l/_havqIGKTqWGg

A. Wine

B. Power alcohol

C. Denatured alcohol

D. Absolute alcohol

Answer: B

o Watch Video Solution

70.1n a test, alcohol is treated with equimolar

mixture of concentrated HCl and anhydrous


https://dl.doubtnut.com/l/_havqIGKTqWGg
https://dl.doubtnut.com/l/_y2aNmXq1eLd5

Zinc chloride. The solution immediately turned

turbid the given alcohol is:

A. Primary

B. Secondary

C. Tertiary

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_y2aNmXq1eLd5

71. When alcohol is heated with aqueous
NaOH and iodine solution. On warming the
mixture yellow ppt appears. This test is called
as.

A.Victor Meyertest

B. Lucas test

C. lodoform test

D. Litmus test

Answer: C

I ° Wiak~hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_PeU1HRrO29cU
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72. Alcohols react with mono carboxylic acid in
presence of concentrated H,50, as catalyst.
Which new product is formed ?

A. Alcohol

B. Phenol

C. Ester

D. Aldehyde

Answer: C

| s ]


https://dl.doubtnut.com/l/_PeU1HRrO29cU
https://dl.doubtnut.com/l/_sRo0eQlyODyJ

| ¥ Watch Video Solution ]

73. Which type of alcohol cannot be prepared
by reduction of carbonyl group aldehydes and
ketones

A. Primary

B. Tertiary

C. Secondary

D. All of these

Answer: B



https://dl.doubtnut.com/l/_sRo0eQlyODyJ
https://dl.doubtnut.com/l/_4LOkBTABDYaP

\ o Watch Video Solution

74. Victor Meyer test is used to distinguish

between different types of

A. Aldehydes

B. Ketones

C. Alcohol

D. Esters

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_4LOkBTABDYaP
https://dl.doubtnut.com/l/_6110qOZIz7G0

75. Arrange the following in the increasing

order of acidic character.

OH OH. OH
OCH; NO,

@ (i) i)

A (ii7) < (3) < (41)
B. (1) < (i) < (44)
C. (i43) < (i1) < (4)

D. (i) < (ii) < (i)


https://dl.doubtnut.com/l/_6110qOZIz7G0
https://dl.doubtnut.com/l/_8XgSLECwfBw9

Answer: B

o Watch Video Solution

76. Nitration of phenol in the presence of conc.

H>S50, forms

A. o-nitrophenol

B. m-nitrophenol

C. picric acid

D. p-nitrophenol


https://dl.doubtnut.com/l/_8XgSLECwfBw9
https://dl.doubtnut.com/l/_TrPCCveZc8MM

Answer: C

o Watch Video Solution

77. Name the enzyme which converts sucrose

into glucose and fructose.

A. Zymase

B. Urasc

C. Cellbiose

D. Invertase


https://dl.doubtnut.com/l/_TrPCCveZc8MM
https://dl.doubtnut.com/l/_zBetqrW1KJts

Answer: D

o Watch Video Solution

78. The amount of bromine required to

convert 94 g of phenol into 24,6

tribromophenol

A9 g

B.48¢g

C.16g

D.48 g


https://dl.doubtnut.com/l/_zBetqrW1KJts
https://dl.doubtnut.com/l/_NCZzdOxLIjXd

Answer: D

o Watch Video Solution

79. Phenolphthalein is prepared from phenol

by its reaction with

Conc.H2504 .
2 phenol + > Phenol phthalein
A

A. Phthalican hydride

B. Phthalic acid

C. Benzoic acid

D. Oxalic acid


https://dl.doubtnut.com/l/_NCZzdOxLIjXd
https://dl.doubtnut.com/l/_LFShcOlzipSv

Answer: A

o Watch Video Solution

80. Which of following will give Phenol with

Ca0 and NaOH?

A. Picric acid

B. Benzoic acid

C. Salicylic acid

D. Acetic acid


https://dl.doubtnut.com/l/_LFShcOlzipSv
https://dl.doubtnut.com/l/_7JvhFDuNamOE

Answer: C

o Watch Video Solution

81. Write the chemical equation for:

RiemerTiemman reaction for the preparation

of salicylic acid.

A. Toluene

B. Benzaldehyde

C. Acetoplienone

D. Salicylaldehyde


https://dl.doubtnut.com/l/_7JvhFDuNamOE
https://dl.doubtnut.com/l/_ovgujAS3iymV

Answer: D

o Watch Video Solution

82. When phenol is treated with CHCI5 and

NaOH, the product formed is

A. Benzaldehyde

B. Benzoic acid

C. Benzene

D. Toluene



https://dl.doubtnut.com/l/_ovgujAS3iymV
https://dl.doubtnut.com/l/_GwwFQ8MwnfSx

Answer: B

o Watch Video Solution

83. Which of the following is most acidic?

A. Benzyl alcohol

B. Phenol

C. Cyclohexanol

D. m-chloro phenol

Answer: D


https://dl.doubtnut.com/l/_GwwFQ8MwnfSx
https://dl.doubtnut.com/l/_wlKWcZkoj1q8

° Watch Video Solution

84. Which of the following compounds will

react with sodium hydroxide solution in water
?

A.CeHsOH

B.CeHsCH,OH

C. (C’H3)3CO

D. CoH;OH

Answer: A


https://dl.doubtnut.com/l/_wlKWcZkoj1q8
https://dl.doubtnut.com/l/_sdjFTVw4VsVp

° Watch Video Solution

85. Which of the following reagents may be

used to distinguish between phenol and

benzoic acid ?

A. Tollen's reagent

B. Molisch reagent

C. aqueous NaOH

D. Neutral FeCl;

Answer: D


https://dl.doubtnut.com/l/_sdjFTVw4VsVp
https://dl.doubtnut.com/l/_OPr0UF8j6uo4

° Watch Video Solution

86. Which one of the following phenols has

the highest pK, Value ?

A. o-Nitro phenol

B. m-Nitro phenol

C. Picric acid

D. p-cresol

Answer: D

| 8 l


https://dl.doubtnut.com/l/_OPr0UF8j6uo4
https://dl.doubtnut.com/l/_p8yzSwXX5efl

87. Why Phenols are more acidic than Alcohol ?

A. phenoxide ion is stabalised by resonance

B. phenoxide ion does not show resonance

C. alcohols do not show any acidic property

D. phenols are soluble in polar solvents

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_p8yzSwXX5efl
https://dl.doubtnut.com/l/_2EXU8FWrMCn1
https://dl.doubtnut.com/l/_401mJN9CqP0v

88. Which of the following product is obtained

by heating aqueous solution of benzene

diazonium chloride ?

A. phenol

B. benzene

C. benzoic acid

D. aniline

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_401mJN9CqP0v

89. What type of reactions are represented by
following equation : Fe203 + 2Al — Al203 +

2Fe

o Watch Video Solution

90. What type of reactions are represented by

following equation : CuO + Mg - MgO + Cu

° Watch Video Solution



https://dl.doubtnut.com/l/_8WwHuiiDMl8T
https://dl.doubtnut.com/l/_gJ8vohpIbyBT

91. Which compound is predominantly formed

when phenol is allowed to react with bromine

in agueous medium ?

A. picric acid

B. o-bromo phenol

C. 2,4,6-tribromophenol

D. p-bromo phenol

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gnkT78zJDW55

92. Benzene diazonium chloride on reaction

with phenol in basic medium gives:

A. chloro benzene

B. diphenyl ether

C. p-hydroxyazo benzene

D. benzene

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mYEKY3BwKy2W
https://dl.doubtnut.com/l/_ifS3zTxwufSc

93. What type of reactions are represented by

following equation : 2H2 + 02 —» 2H20

o Watch Video Solution

94. What type of reactions are represented by

following equation : CuCl2 + Pb —» PbCI2 + Cu

o Watch Video Solution

95. What type of reactions are represented by

following equation : H202 - H20 + 02


https://dl.doubtnut.com/l/_ifS3zTxwufSc
https://dl.doubtnut.com/l/_sC6SXYEMgktW
https://dl.doubtnut.com/l/_yfhrDi5WEqFN

° Watch Video Solution

96. What type of reactions are represented by

following equation : Fe + 02 — Fe203

o Watch Video Solution

97. The electrophile involved in Reimer -
Tiemann reaction of phenol with chloroform in

presence of NaOH is:

A. CCl,


https://dl.doubtnut.com/l/_yfhrDi5WEqFN
https://dl.doubtnut.com/l/_CeXQPaONRWUI
https://dl.doubtnut.com/l/_RcfyuW7gaGVr

B. "CHO

C. ~ CClj

D.CHCI,

Answer: A

o Watch Video Solution

98. What will be the product on reducing

phenol with Hy in the presence of Ni catalyst


https://dl.doubtnut.com/l/_RcfyuW7gaGVr
https://dl.doubtnut.com/l/_KNYa1A35ZZFg

A. benzene

B. cyclohexatie

C. toluene

D. cyclohexanol

Answer: D

° Watch Video Solution

99. What type of reactions are represented by

following equation : AI(OH)3 — Al203 + H20

| 8 l


https://dl.doubtnut.com/l/_KNYa1A35ZZFg
https://dl.doubtnut.com/l/_mm3op4tLiA7u

100. What type of reactions are represented by

following equation : Zn + 2HCI - ZnCI2 + H2

° Watch Video Solution

101. What type of reactions are represented by

following equation : 2KNO3 — 2KNO2 + O2

o Watch Video Solution



https://dl.doubtnut.com/l/_mm3op4tLiA7u
https://dl.doubtnut.com/l/_W5bGmUD8miV0
https://dl.doubtnut.com/l/_CvHI8xYB3xAC

102. What type of reactions are represented by

following equation : 2Mg + 02 —» 2MgO

o Watch Video Solution

103. What type of reactions are represented by

following equation : 2CO + 02 — 2C0O2

o Watch Video Solution



https://dl.doubtnut.com/l/_qiPNbEO4RVWO
https://dl.doubtnut.com/l/_3yJzrGuOFaOg

104. Name a substance which can be used as

an antiseptic as well as disinfectant.

A. Alcohol

B. Ether

C. Phenol

D. Carboxylic acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RL6rjF1050od
https://dl.doubtnut.com/l/_RIXudKQBlp28

105. Which of the following product is

obtained by heating aqueous solution of

benzene diazonium chloride ?

A. Aniline

B. Phenol

C.Benzene

D. Chloro benzene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RIXudKQBlp28
https://dl.doubtnut.com/l/_prXTWjc76vQp

106. Which is the commercial method for

preparation of phenol

A. Dow's process

B. From diazonium salt

C. Hock method

D. All the above

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_prXTWjc76vQp

107. Name a reagent which will react with

cumene to give phenol

A. Oxygen

B. hydrogen

C. Nitrogen

D. Ozone

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cDW60iWME4ou
https://dl.doubtnut.com/l/_a1hYHKydv78M

108. The Py value of p-nitrophenol is

A.5.0

B.6.2

C.7.1

D. 8.0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_a1hYHKydv78M

109. Why Phenols are more acidic than Alcohol

?

A. Phenols are more soluble in polar

solvent

B. Phenoxide ion is stablised by resonance

C. Alcohols do not hydrogen atoms at all

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eWR6jnOMBe7W

110. Phenol on reduction with H,; in the

presence of nickel catalyst gives

A. Benzene

B. Toluene

C. Cyclohexane

D. Cyclohexanol

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eWR6jnOMBe7W
https://dl.doubtnut.com/l/_TGyNSmC2alHU
https://dl.doubtnut.com/l/_IwZfkZgAZKuP

111. The molecular formula of aldehydes is .

A.C,H,,0

B. CnH2n+ICHO

D.C,H,,0C, H,,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IwZfkZgAZKuP

112. Ethers are isomeric with

A. Alcohols

B. Phenols

C. Aldehydes

D. Ketones

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4QLhf4YHumd6

113. Ethers have tetrahedral geometry like

A.CO,

B. NH,

C. H,O

D. BF;

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Tw5venDJ0UCn

114. Which of the following is a simple ether?

A. CH,O0C,H;

B. CH;OCH,

C. 06H5002H5

D. All of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VC8U0NC85fS3

115. Ethers are more volatile than alcohols due

to

A. H-bonding in alcohols

B. H-bonding in ethers

C. Resonance in alcohols

D. Resonance in ethers

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_a0u6jDjzPnks
https://dl.doubtnut.com/l/_idsSUzXkhJmO

116. Fill in the blanks- A mixture of salt and
sand is separated by the process

called

o Watch Video Solution

117. What type of reactions are represented by
following equation : 2AgNO3 + Cu -

Cu(NO3)2 + 2Ag

o Watch Video Solution



https://dl.doubtnut.com/l/_idsSUzXkhJmO
https://dl.doubtnut.com/l/_dJq4bxPoOdux

118. Williamsons synthesis is an example of :

A. Nucleophilic addition

B. Electrophilic addition

C. Nucleophilic substitution

D. Electrophilic substitution

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mJ60Ms70x76r

119. Give IUPAC name of CH30C, H;

A. Ethoxy methane

B. Methoxy ethane

C. Diethyl ether

D. Ethyl methyl ether

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3dHTDxkbES41

120. What type of reactions are represented by

following equation : H2 + Cl2 — 2HCI

o Watch Video Solution

121. Dehydration of alcohols on give ethers is

catalyzed by :

A. Hot NaOH

B. Conc. H,50, at 413 K

C.Hot CH3COOH


https://dl.doubtnut.com/l/_TVedDZi0GE13
https://dl.doubtnut.com/l/_X5qcmjgzGkur

D. Hot HNO;

Answer: B

° Watch Video Solution

122. Diethyl ether Cy H;OCy H does not react

with Na because

A. It does not have any active H attached to

oxygen


https://dl.doubtnut.com/l/_X5qcmjgzGkur
https://dl.doubtnut.com/l/_aawN66jWR6zp

B. It does not have any active C attached to

oxygen

C. Both of these

D. None of these

Answer: A

o Watch Video Solution

123. Ethers on hydrolysis give

A. Carboxylic acid


https://dl.doubtnut.com/l/_aawN66jWR6zp
https://dl.doubtnut.com/l/_Y0U28H5LzShQ

B. Alcohol

C. Ester

D. Ketone

Answer: B

o Watch Video Solution

124. What type of reactions are represented by

following equation : AB+ CD — AD + CB

o Watch Video Solution



https://dl.doubtnut.com/l/_Y0U28H5LzShQ
https://dl.doubtnut.com/l/_MDeKyVjsFcpp

125. What type of reactions are represented by

following equation: A+ BC - AC+B

° Watch Video Solution

126. What type of reactions are represented by

following equation: A+B — C

o Watch Video Solution



https://dl.doubtnut.com/l/_hf15tHye9DFf
https://dl.doubtnut.com/l/_cBtoBtL9VrCM

127. What type of reactions are represented by

following equation: X - Y+ Z

o Watch Video Solution

128. Diethyl ethier finds its use in medicine as

A. Pain Killer

B. Hypnotic

C. Antiseptic

D. Anaesthetic


https://dl.doubtnut.com/l/_xFCHCZkUQe70
https://dl.doubtnut.com/l/_aSwxViAFUmab

Answer: D

o Watch Video Solution

129. Diethyl ether is decomposed on heating

with

A. KM’I’LO4

B. Water

C.NaOH

D. HI


https://dl.doubtnut.com/l/_aSwxViAFUmab
https://dl.doubtnut.com/l/_Nga5FKUTa9sp

Answer: D

o Watch Video Solution

130. Ethers are quite stable towards

A. Oxidizing agents

B. Reducing agents

C. Na Metal

D. All of these

Answer: C


https://dl.doubtnut.com/l/_Nga5FKUTa9sp
https://dl.doubtnut.com/l/_BeiJ2vnJtlcx

° Watch Video Solution

131. Write word equation and balance
equation for the reactions taking place when :
dilute hydrochloric acid reacts with zinc

granules

o Watch Video Solution

132. Diethyl ether on reaction with CO in

specific conditions forms,


https://dl.doubtnut.com/l/_BeiJ2vnJtlcx
https://dl.doubtnut.com/l/_Orb7sFjVjcVK
https://dl.doubtnut.com/l/_1Yniyr1KUSUT

A. Acetic acid

B. Carbon dioxide

C. Ethyl Propanoate

D. Acetyl chloride

Answer: C

o Watch Video Solution

133. Write word equation and balance

equation for the reactions taking place when :


https://dl.doubtnut.com/l/_1Yniyr1KUSUT
https://dl.doubtnut.com/l/_MgOZ0bXRLwd8

dilute hydrochloric acid reacts with aluminium

powder

° Watch Video Solution

134. Write word equation and balance
equation for the reactions taking place when :
dilute  hydrochloric acid reacts with

magnesium ribbon

o Watch Video Solution



https://dl.doubtnut.com/l/_MgOZ0bXRLwd8
https://dl.doubtnut.com/l/_g6QNLec91cgO

135. Williamson's Synthesis of preparing

dimethyl ether is a/an

A. Sy 1 reaction

B. electrophilic substitution reaction

C. Sy2 reaction

D. electrophilic addition reaction

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2Xh0T0bfJ2nU
https://dl.doubtnut.com/l/_YMbDQ4vASbGR

136. What are strong base.

o Watch Video Solution

137. In the following reaction,

Red P+ HI
CoH:OCyHy + 4H —— "5 9X + H,O Xis

A. Butane

B. Propane

C. Ethane

D. Ethylene


https://dl.doubtnut.com/l/_YMbDQ4vASbGR
https://dl.doubtnut.com/l/_Dnfmyuh5FIJb

Answer: C

o Watch Video Solution

138. Which of the following is obtained by
keeping ether in contact with air for a long
time?

A.CoHsOCH(CH3) — O — OH

B.CoHs — O — CH;0H

C. C2H5 — 0 — 02H5 — OH

D.CH; — OCH(CH;) — O — OH


https://dl.doubtnut.com/l/_Dnfmyuh5FIJb
https://dl.doubtnut.com/l/_dNjAczyaUwle

Answer: A

o Watch Video Solution

139. An ether is more volatile than an alcohol

having the same molecular formula. This is

due to:

A. Dipolar character of ethers

B. Alcohols having resonance structures

C.Intermolecular hydrogen bonding in

ethers


https://dl.doubtnut.com/l/_dNjAczyaUwle
https://dl.doubtnut.com/l/_fEA6lmTDsSKH

D. Intermolecular hydrogen bonding in

alcohols

Answer: D

° Watch Video Solution

140. Complete and balance equation : Zn + HCI

o Watch Video Solution



https://dl.doubtnut.com/l/_fEA6lmTDsSKH
https://dl.doubtnut.com/l/_XLaaEMa9tvv7

141. The boiling point of ethyl alcohol is much
higher than that of dimethyl ether though
both have the same molecular weight. Why?
A. Ether is insoluble in water
B. Methyl groups are attached to oxygen in
ether

C. Dipole moment of ethyl alcohol is less

D. Ethyl alcohol shows hydrogen bonding

Answer: D

Y. |


https://dl.doubtnut.com/l/_NbaBUCVrcQdC

[ @ VWatch vVideo Solution ]

142. Complete and balance equation : CuO +

HCl -

o Watch Video Solution

True And False 1 Mark

1. Complete and balance equation : NaOH +

HCl -

l ° Watch Video Solution


https://dl.doubtnut.com/l/_NbaBUCVrcQdC
https://dl.doubtnut.com/l/_a0pKS2EnmU4A
https://dl.doubtnut.com/l/_rhdsx98e863J

2. Complete and balance equation : Na2CO3 +

HCl -

o Watch Video Solution

3. Complete the reaction and balance it : Al +

H2S504 -

° Watch Video Solution



https://dl.doubtnut.com/l/_rhdsx98e863J
https://dl.doubtnut.com/l/_5mrIruY2aqU5
https://dl.doubtnut.com/l/_svBvgWL6CMfX

4. Sodium ethoxide can be prepared by the
reaction of ethanol with aqueous sodium

hydroxide.

o Watch Video Solution

5. tert -butyl alcohol is more soluble in water

than n- butyl alcohol.

° Watch Video Solution



https://dl.doubtnut.com/l/_fzWB1IV04K7t
https://dl.doubtnut.com/l/_QaR2fSeq6q51

6. 2,4 dinitrophenol is less acidic than phenol.

o Watch Video Solution

7. Complete the reaction and balance it : Mg +

H2504 -

o Watch Video Solution

8. Complete the reaction and balance it : Zn +

H2S04 -



https://dl.doubtnut.com/l/_sIW011OlgMWl
https://dl.doubtnut.com/l/_JFiko2rzCnbu
https://dl.doubtnut.com/l/_HFWsTFlqXtXK

o Watch Video Solution

9. Phenols turn blue litmus red

o Watch Video Solution

10. Primary alcohols on dehydrogenation give

aldehydes.

o Watch Video Solution



https://dl.doubtnut.com/l/_HFWsTFlqXtXK
https://dl.doubtnut.com/l/_cb7mRsCBop9v
https://dl.doubtnut.com/l/_y2O2n60WQK4E

11. Phenetol reacts with HI at 373 K to give

ethanol and iodobenzene.

° Watch Video Solution

12. Acetone reacts with methyl magnesium
bromide followed by hydrolysis to give

secondary alcohols.

° Watch Video Solution



https://dl.doubtnut.com/l/_H89UwiKPaOiC
https://dl.doubtnut.com/l/_ScHVhb7Q2cM6

13. Growing of plant and ripening of fruits is a

change.

o Watch Video Solution

14. Discuss the dehydrogenation of primary,

secondary and tertiary alcohols.

o Watch Video Solution



https://dl.doubtnut.com/l/_VIjMLccog0Gm
https://dl.doubtnut.com/l/_QyGUaxsHg3So

15. Primary alcohols on dehydrogenation give

aldehydes.

o Watch Video Solution

3 Mark Questions

1. How will you convert ethanol to ethane ?

o Watch Video Solution



https://dl.doubtnut.com/l/_FxXvBHS6u7Kb
https://dl.doubtnut.com/l/_pyYxtgGDKQqg

2. How will you convert ethanol to ethanoic

acid ?

o Watch Video Solution

3. Complete the following reaction CH3 CH 2

Br+KCN -

o Watch Video Solution

4. What is an alcohol? give two examples



https://dl.doubtnut.com/l/_OEHvrWOQRaQK
https://dl.doubtnut.com/l/_denUN2yrW9eY
https://dl.doubtnut.com/l/_467WhCYmYiWq

o Watch Video Solution

5. Draw structural formula of a primary alcohol

having molecularformula CyHyOH.

o Watch Video Solution

6. Draw structural formula of secondary

alcohol.

o Watch Video Solution



https://dl.doubtnut.com/l/_467WhCYmYiWq
https://dl.doubtnut.com/l/_1v0NRkeUJPwk
https://dl.doubtnut.com/l/_JFgtoRnVIz9T
https://dl.doubtnut.com/l/_jKrwn9ZSwnM5

7. Draw structuralformula of atertiary alcohol

having molecular formula C;HyOH.

o Watch Video Solution

8. What is catalytic dehydrogenation of

alcohols ?

o Watch Video Solution



https://dl.doubtnut.com/l/_jKrwn9ZSwnM5
https://dl.doubtnut.com/l/_IKDXriw2Bg1C

9. How will you prepare Secondary, Tertiary,

primary alcohol from Grignard reagent ?

o Watch Video Solution

10. How will you convert Methanol into

Ethanol ?

o Watch Video Solution



https://dl.doubtnut.com/l/_F1K5XeNnhPPW
https://dl.doubtnut.com/l/_lvFENncDLFCM

11. How alcohols react with

SOClI,

° Watch Video Solution

12. How alcohols react with PCl;5

° Watch Video Solution

13. How alcohols react with :

PCl;



https://dl.doubtnut.com/l/_dXwBMVnm9aHk
https://dl.doubtnut.com/l/_uWSNeoWI3lnb
https://dl.doubtnut.com/l/_bGgoSjn3rN0O

o Watch Video Solution

14. How alcohols react with
(1) Carboxylic acids
(i) Acid anhydrides

(iii) Acid chlorides

o Watch Video Solution

15. How does phenol react with :

Acid anhydride ?

| &


https://dl.doubtnut.com/l/_bGgoSjn3rN0O
https://dl.doubtnut.com/l/_Kwyl025C8C2X
https://dl.doubtnut.com/l/_5pnEwEwAVzbK

| ¥ Watch Video Solution |

16. Discuss the oxidation of alcohols.

o Watch Video Solution

17. Why do alcohols have higher boiling points

than halo-alkanes of the same molecular mass

o Watch Video Solution



https://dl.doubtnut.com/l/_5pnEwEwAVzbK
https://dl.doubtnut.com/l/_1cSd3LzlyTwv
https://dl.doubtnut.com/l/_FZzunl6jZTGp
https://dl.doubtnut.com/l/_SEiQtxbZT3zI

18. Why are alcohols comparatively more
soluble in water than the corresponding

hydrocarbons ?

o Watch Video Solution

19. Why alcohols are weaker acids than water ?

o Watch Video Solution

20. Discuss the acidic dehydration of alcohols

at different temperatures.


https://dl.doubtnut.com/l/_SEiQtxbZT3zI
https://dl.doubtnut.com/l/_q7ic7CspBMcv
https://dl.doubtnut.com/l/_WKTSkjUy5yhj

° Watch Video Solution

21. Write the reactions of alcohols with :

Sodium

o Watch Video Solution

22. Write the reactions of alcohols with :

HI

° Watch Video Solution



https://dl.doubtnut.com/l/_WKTSkjUy5yhj
https://dl.doubtnut.com/l/_ueDaRRGpLlc1
https://dl.doubtnut.com/l/_5M3WTlf91bbF
https://dl.doubtnut.com/l/_JSG9aFklknYm

23. Write the reactions of alcohols with:

HCI

o Watch Video Solution

24. Write the reactions of alcohols with:

Sodium hydroxide

° Watch Video Solution



https://dl.doubtnut.com/l/_JSG9aFklknYm
https://dl.doubtnut.com/l/_wMVuaXfVOmBe

25. Write Victor Meyer's test to distinguish

between 1°,2° and 3° alcohols ?

° Watch Video Solution

26. Discuss the reaction and mechanism of
acidic dehydration of ethyl alcohol to prepare

ether.

° Watch Video Solution



https://dl.doubtnut.com/l/_6o8UB6TenYCN
https://dl.doubtnut.com/l/_b64ScHCHsGnI

27. Write two uses of methanol.

o Watch Video Solution

28. Write two uses of ethanol.

o Watch Video Solution

29. Convert the following : 1- Propanol into 2-

Propanol.

o Watch Video Solution



https://dl.doubtnut.com/l/_xzIosbkOuAUW
https://dl.doubtnut.com/l/_0EfiLGzoMSoZ
https://dl.doubtnut.com/l/_qfb78KFAMzzo

30. Why solubility of alcohols in water

decreases with increase in molecular mass ?

o Watch Video Solution

31. Why primary alcohols are more acidic than

secondary alcohols?

o Watch Video Solution



https://dl.doubtnut.com/l/_qfb78KFAMzzo
https://dl.doubtnut.com/l/_YbSMGlLP485T
https://dl.doubtnut.com/l/_JlZAppnORbDA

32. How will you prepare ethanol from:

Ethene.

o Watch Video Solution

33. How can you distinguish primary,

secondary and teriary alcohols by Lucas Test?

o Watch Video Solution



https://dl.doubtnut.com/l/_sdC06EPwqQJp
https://dl.doubtnut.com/l/_nugdelSNlTPi

34. What happens when 1°, 2° and 3°
alcohols are passed over red hot copper ? Give

equations.

o Watch Video Solution

35. What are phenols ?

o Watch Video Solution

36. Write Schotten Baumann reaction.



https://dl.doubtnut.com/l/_S0D6p8nILICr
https://dl.doubtnut.com/l/_lVyOZCO4qT0l
https://dl.doubtnut.com/l/_6mqm3XomqQjq

o Watch Video Solution

37. Explain Reimer Tiemann reaction with one

example.

o Watch Video Solution

38. Explain Dow 's process .

o Watch Video Solution



https://dl.doubtnut.com/l/_6mqm3XomqQjq
https://dl.doubtnut.com/l/_fv1F41GNmWjA
https://dl.doubtnut.com/l/_mGwwnxL9UMQM

39. What is Kolbe’s reaction to prepare salicylic

acid ?

o Watch Video Solution

40. How is phenol converted into picric acid ?

o Watch Video Solution

41. Alcohols are easily protonated in

comparison to phenols.



https://dl.doubtnut.com/l/_dWbdfHsfR14g
https://dl.doubtnut.com/l/_4KZc3K3RiIOe
https://dl.doubtnut.com/l/_ktRvdnkAONVV

o Watch Video Solution

42. Orthonitrophenol and paranitrophenol are

more acidic than phenols. Give reasons.

o Watch Video Solution

43. Why phenols are acidic in nature ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ktRvdnkAONVV
https://dl.doubtnut.com/l/_fOqkQiUoOg1N
https://dl.doubtnut.com/l/_Djg6VGq2Xc8y

44. Write short notes on Coupling reaction

o Watch Video Solution

45. How will you convert Phenol to Benzoic

acid ?

o Watch Video Solution

46. Why has phenol, higher boiling point than

toluene ?



https://dl.doubtnut.com/l/_FNSRCmlamHc0
https://dl.doubtnut.com/l/_lsP4O2Uku56r
https://dl.doubtnut.com/l/_86ngiPWYZ4zE

o Watch Video Solution

47. How Phenol is converted to Benzene ?

o Watch Video Solution

48. How does phenol react with

Zinc dust.

o Watch Video Solution



https://dl.doubtnut.com/l/_86ngiPWYZ4zE
https://dl.doubtnut.com/l/_EmcEhiu6RFz4
https://dl.doubtnut.com/l/_AMnYKPDgUj0P

49. Write a test to distinguish alcohols from

phenols.

o Watch Video Solution

50. Give the chemical reactions for the

preparation of phenol from cumene.

o Watch Video Solution



https://dl.doubtnut.com/l/_fsk7lNehCf4n
https://dl.doubtnut.com/l/_Q0wUDR4PV12t

51. How does the nitration of phenol with
dilute nitric acid differ from nitration of
phenol with conc, nitric acid in the presence of

sulphuric acid?

° Watch Video Solution

52. How will you prepare phenol from (a)

Grignard reagent (b) Benzene

o Watch Video Solution



https://dl.doubtnut.com/l/_Hz2KBJpMQ1Sa
https://dl.doubtnut.com/l/_1wHBTjg4Yprx
https://dl.doubtnut.com/l/_M0CXuDwHwvXj

53. How will you prepare phenol from (a)

Grignard reagent (b) Benzene

o Watch Video Solution

54, Write short note on Hoffmann's
bromamide reaction. Why is it regarded as

Hoffmann degradation reaction?

o Watch Video Solution



https://dl.doubtnut.com/l/_M0CXuDwHwvXj
https://dl.doubtnut.com/l/_DhTDrIWpI6Fb

1. What are ethers ?

o Watch Video Solution

2. How diethyl ether reacts with

HI

o Watch Video Solution

3. Write two uses of ethers.

o Watch Video Solution



https://dl.doubtnut.com/l/_mKeX8KWcC5Fm
https://dl.doubtnut.com/l/_27H43r1AvWk0
https://dl.doubtnut.com/l/_18MtuUr3qus7

4. Why are ethers relatively inert compounds ?

o Watch Video Solution

5. Why di-tertiary butyl ether cannot be

prepared byWilliamson’s synthesis ?

o Watch Video Solution



https://dl.doubtnut.com/l/_18MtuUr3qus7
https://dl.doubtnut.com/l/_ikvE96suDh7t
https://dl.doubtnut.com/l/_feG0irtcSvL4

6. The Boiling Point of ethers are lower than

isomeric alcohols why ?

° Watch Video Solution

7. Ethers possess a dipole moment even if the
alkyl groups in the molecule are identical.

Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_RvHX4Ncrx88T
https://dl.doubtnut.com/l/_jjQv6qHObQjq

8. How do you account for the miscibility of

ethoxy ethane with water.

o Watch Video Solution

9. Give the functional isomer of CH3;CH,OH.

o Watch Video Solution

10. Explain Williamson’ssynthesis.

o Watch Video Solution



https://dl.doubtnut.com/l/_lK3v5Wb7rcao
https://dl.doubtnut.com/l/_CfMLiozOgNvu
https://dl.doubtnut.com/l/_ynkLDKpOESNx

11. The Boiling Point of ethers are lower than

isomeric alcohols why ?

o Watch Video Solution

12. C-O-C bond angle in ethers is higher than
H-O-H bond angle in water through O is sp® -

hybridisedin both the cases.

o Watch Video Solution



https://dl.doubtnut.com/l/_ynkLDKpOESNx
https://dl.doubtnut.com/l/_6dWiPPPGCeUV
https://dl.doubtnut.com/l/_iF11zs0WWuYP
https://dl.doubtnut.com/l/_QnRhIjUqzqpt

13. Dimethyl ether is completely soluble in
water but diethyl ether is soluble in water to a

small extent. Explain.

o Watch Video Solution

14. How diethyl ether reacts with

PCl;

o Watch Video Solution



https://dl.doubtnut.com/l/_QnRhIjUqzqpt
https://dl.doubtnut.com/l/_aShDZv6a5HxC

15. How diethyl ether reacts with

Cl,

° Watch Video Solution

16. Phenyl methyl ether reacts with HI to give
phenol and methyl iodide and not

iodobenzene and methyl alcohol. Explain,

° Watch Video Solution



https://dl.doubtnut.com/l/_N4WDQdilrHUj
https://dl.doubtnut.com/l/_OS8bsMEmDNMR

